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(iv)

IBPS - Institute of Banking Personnel Selection
NOTIFICATION

RECRUITMENT OF CLERKS
AGE LIMIT: Minimum: 20 years Maximum: 28 years

EDUCATIONAL QUALIFICATIONS:
A Degree (Graduation) in any discipline from a University recognised by the Govt. Of India or any equivalent qualification 
recognized as such by the Central Government.
The candidate must possess valid Mark-sheet / Degree Certificate that he/ she is a graduate on the day he / she registers 
and indicate the percentage of marks obtained in Graduation while registering online.
Computer Literacy: Operating and working knowledge in computer systems is mandatory i.e. candidates should have 
Certificate/Diploma/Degree in computer operations/Language/ should have studied Computer / Information Technology 
as one of the subjects in the High School/College/Institute.

CRP – ONLINE EXAMINATIONS
I. The structure of the Examinations which will be conducted online are as follows:

a. Preliminary Examination

Sr. 
No.

Name of Tests Medium of Exam No. of Questions Maximum Marks Time allotted 
for each test 

(Separately timed)

1 English Language English 30 30 20 minutes

2 Numerical Ability * 35 35 20 minutes

3 Reasoning Ability * 35 35 20 minutes

TOTAL 100 100 60 minutes

Candidates have to qualify in each of the three tests by securing cut-off marks to be decided by IBPS. Adequate number 
of candidates in each category as decided by IBPS depending upon requirements will be shortlisted for Online Main 
examination.

b. Main Examination

Sr. 
No.

Name of Tests  
(NOT BY SEQUENCE)

Medium of 
Exam

No. of Questions Maximum Marks Time allotted 
for each test 

(Separately timed)

1 General/ Financial Awareness * 50 50 35  minutes

2 General English English 40 40 35  minutes

3 Reasoning Ability & Computer 
Aptitude

* 50 60 45  minutes

4 Quantitative Aptitude * 50 50 45 minutes

TOTAL 190 200 160 minutes

IBPS reserves the right to modify the structure of the examination which will be intimated through its website. Other 
detailed information regarding the examination will be given in an Information Handout, which will be made available 
for the candidates to download along with the call letters from the authorised IBPS website www.ibps.in.
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l 2 l

RuhÉ‹  fÂjÉaš (Numerical Ability)

v© bjhl®fŸ
Number Series

Directions (1 - 40) : Ñœ¡f©l Édh¡fËš nfŸÉ¡ 

F¿Æ£l (?) ïl¤âš mika nt©oa v©iz¡ fh©f.

1.	 405 ïš 65% + 3700 ïš 37% = ? – 1191. 
A)	 2723.25	 B)	2824.25
C)	 2783.75	 D)	2823.25
E)	 2375.25

És¡f« :	 Éil : (D)
65 405

100

37 3700

100
1191

×
+

×
= −?

? – 1191 = 263.25 + 1369 = 1632.25
? = 1632.25 + 1191 = 2823.25
2.	 ? ïš 32% = 4624. 

A)	 14450	 B)	12450
C)	 16450	 D)	15450
E)	 16850

És¡f« :	 Éil : (A)
32

100
4624

×
=

?

? =
×

=
4624 100

32
14450

3.	 630 ïš 3969% + 115.1 = (?)3 ÷ 8.
A)	 8	 B)	16
C)	 12	 D)	18
E)	 14

És¡f« :	 Éil : (B)
(?)3 ÷ 8 = 630 ïš 3969%  + 115.1

⇒ 
63 630

100

×
+ 115.1 = 396.9 + 115.1 = 512

?3 = 512 × 8 = 4096

(?) = 4096 16 16 163 3= × × = 16
4.	 2424.64 + 396.28 – 369.79 + 242.8 = ?

A)	 2693.93	 B)	2393.39
C)	 2693.43	 D)	2543.93
E)	 2793.39

És¡f« :	 Éil : (A)
? = 2424.64 + 396.28 + 242.8 – 369.79
⇒ 3063.72 – 369.79 = 2693.93

5.	 42875 ïš 
1

7
 ïš 4

5
–

	 4347 ïš 
3

7
 ïš 

1

9
ïš 

2

3
= ?

A)	 4862	 B)	5762
C)	 3762	 D)	4526
E)	 4762

És¡f« :	 Éil : (E)
4

5

1

7
42875

2

3

1

9

3

7
4347× ×





− × × ×





⇒ × −
×4

35
42875

6 4347

189
⇒ 4900 – 138 = 4762
6.	 9900 ïš 13.8% – 5000 ïš 17.5% = ? ïš 20%

A)	 2642	 B)	2668
C)	 2562	 D)	2866
E)	 2456

És¡f« :	 Éil : (E)

? ïš 20% = 
13 8

100

.
× 9900 – 

17 5

100

.
× 5000

? ïš 20% = 1366.2 – 875

? = 491.2 × = 
100

20
 = 2456

7.	 5929 4356− = 856 – ?
A)	 830	 B)	826
C)	 854	 D)	845
E)	 790

És¡f« :	 Éil : (D)

? = 856 – 5929 4356−( )
? = 856 – (77 – 66)
⇒ 856 – 11 = 845

8.	 2744 38416 ? = 14
2
3

3
4

5( ) ÷ ( ) × ( )
A)	 14

4( ) 	 B)	 14
8( )

C)	 14
7( ) 	 D)	 14

5( )
E)	 14

6( )
És¡f« :	 Éil : (C)

2744 38416 14
2
3

3
4

5( ) ÷ ( ) × = ( )?

14 14 143
2
3

4
3
4

5( ) ÷ ( ) × = ( )× × ?

14 14 142 3 5( ) ÷ ( ) × = ( )?

14 141 5( ) × = ( )− ?

? = × ( )14 14
5

? = × × ( ) = ( )14 14 14 14
5 7

9.	 648 × 18 × ? = 58320
A)	 4.5	 B)	4
C)	 5	 D)	5.2
E)	 7

És¡f« :	 Éil : (C)
648 × 18 × ? = 58320

∴ ? = 
58320

648 18×
 = 5

bfhŸF¿ Édh¡fŸ
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l 100 l

RuhÉ‹  fÂjÉaš (Numerical Ability)

ïUgo¢ rk‹ghLfŸ
Quadratic Equations

bfhŸF¿ Édh¡fŸ

Directions (1 - 10) : Ñœ¡f©l x›bthU ÉdhÉY« 

ïu©L rk‹ghLfŸ (I & II) bfhL¡f¥g£oU¡F«. 

ïu©ilí« rk‹brŒJ ÉilaË¡fî«.

A)	 P > Q	 B)	P < Q
C)	 P ≤ Q	 D)	P ≥ Q
E)	 P = Q (m) vªj bjhl®ò« ïšiy

1.	 I. P = (–3)2

	 II. Q2 – 20Q + 99 = 0
És¡f« :	 Éil : (C)
I.	 P = (–3)2 = 9
II.	 Q2 – 20Q + 99 = 0

–11				     –9
−11

1
				 

−9

1
	 Q = 11, 9
	 vdnt P ≤ Q

2.	 I. P2 + 8P – 65 = 0

	 II. Q = 841
És¡f« :	 Éil : (B)
I.	 P2 + 8P – 65 = 0

		    13				       –5

	 ⇒  13

1
				     

−5

1

	 P = –13, 5

II.	Q = 841  = 29
	 vdnt P < Q

3.	 I. 5P2 – 17P + 14 = 0
	 II. 8Q2 + 3Q – 5 = 0
És¡f« :	 Éil : (A)
I.	 5P2 – 17P + 14 = 0

 –10				       –7
−10

5
				     

−7

5

	 P = 2, 
7

5

II.	 8Q2 + 3Q – 5 = 0

   8				       –5

  8

8
				      −5

8

	 Q = –1, 5

8
	 vdnt P > Q
4.	 I. 2P2 – 5P – 12 = 0
	 II. 2Q2 + 9Q + 9 = 0
És¡f« :	 Éil : (D)
I.	 2P2 – 5P – 12 = 0

 –8				         3

−
8

2
				        3

2
	 P = 4, –1.5
II.	 2Q2 + 9Q + 9 = 0

   6				        3

  6

2
				       3

2
	 Q = –3, –1.5
	 vdnt P ≥ Q
5.	 I. 7P2 – 34P – 5 = 0
	 II. 2Q2 + 3Q – 14 = 0
És¡f« :	 Éil : (E)
I.	 7P2 – 34P – 5 = 0

 –35				      +1

−
35

7
				       

1

7

	 P = 5, –
1

7
II.	 2Q2 + 3Q – 14 = 0

   7				       –4

  7

2
				       −4

2
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l 101 l

RuhÉ‹  fÂjÉaš (Numerical Ability)

	 Q = –3.5, 2
	 vdnt P k‰W«  Q M»a ïu©o‰F« ïilna vªj¤ bjhl®ò«  

	 ïšiy.

Directions (6 - 10) : Ñœ¡f©l x›bthU ÉdhÉY« 

ïu©L rk‹ghLfŸ (I & II) bfhL¡f¥g£LŸsd. ïU 

rk‹ghLfisí« rÇahd KiwÆš Ô®î brŒJ ÉilaË¡fî«.

A)	 x > y	 B)	x ≤ y
C)	 x < y	 D)	x ≥ y
E)	 x = y mšyJ x k‰W« y M»a ïu©o‰F« ïilÆš 

bjhl®ò vJîÄšiy.

6.	 I. 2x2 – 8x – 24 = 0
	 II. 3y2 + 18y + 24 = 0
És¡f« :	 Éil : (D)
I.	 2x2 – 8x – 24 = 0
	 x2 – 4x – 12 = 0

 –6				      +2

−
6

1
				        

2

1
	 x = 6, –2

II.	3y2 + 18y + 24 = 0
	 y2 + 6y + 8 = 0

   4				        2

  4

1
				       

2

1
	 y = –4, –2
	 vdnt x ≥ y.

7.	 I. 3x2 + 21x + 30 = 0
	 II. 6y2 + 13y + 5 = 0
És¡f« :	 Éil : (C)
I.	 3x2 + 21x + 30 = 0
	 x2 + 7x + 10 = 0

   5				        2

  
5

1
				        

2

1
	 x = –5, –2

II.	 6y2 + 13y + 5 = 0

  10				        3

  10

6
				       3

6

	 y = –
5

3
, –

1

2
	 vdnt x < y.

8.	 I. 12x2 – 17x – 7 = 0

	 II. 10y2 + 37y – 12 = 0
És¡f« :	 Éil : (E)

I.	 12x2 – 17x – 7 = 0

  –21				     +4

 −
21

12
			       

4

12

	 x = +
7

4
, –

1

3

II.	10y2 + 37y – 12 = 0

  40				       –3

+
40

10
				     –

3

10

	 y = –4, +
3

10
	 vdnt x k‰W« y M»at‰¿‰F ïilna bjhl®ò vJîÄšiy.

9.	 I. x2 = 1369

	 II. y = 49133

És¡f« :	 Éil : (E)
I.	 x2	= 1369

	  x	 = ± 1369
  ∴ x	= ± 37

II.	y	 = 49133

	  y	 = 4913
1
3( )

  ∴ y	= 17
	 vdnt x k‰W« y M»at‰¿‰F ïilna bjhl®ò vJîÄšiy.

10.	I. 9x + 8y = 64
	 II. 3x + 4y = 28
És¡f« :	 Éil : (C)
	 9x + 8y = 64		  ........ (i)
	 3x + 4y = 28		  ........ (ii)
rk‹ghL (ii) × 3 – (i)
	 9x + 12y	 = 84
	 9x +   8y	 = 64   
			     4y	 = 20
	 	 	  ∴ y	= 5
y ï‹ kâ¥ig rk‹ghL (i) ïš ãuâÆl,

	 9x + (8 × 5) = 64
⇒ 	    9x + 40 = 64
⇒ 				    9x = 64 – 40 = 24

 				      ∴ x = 
24

9

8

3
=

vdnt x < y.
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l 102 l

RuhÉ‹  fÂjÉaš (Numerical Ability)

Directions (11 - 25) : Ñœ¡f©l x›bthU ÉdhÉY« 

ïu©L rk‹ghLfŸ (I & II) bfhL¡f¥g£LŸsd. ïu©L 

rk‹ghLfisí« Ô®î brŒJ ÉilaË¡fî«.

A)	 x > y	 B)	x < y
C)	 x ≥ y	 D)	x ≤ y
E)	 x = y mšyJ x k‰W« y M»at‰¿‰F ïilna bjhl®ò 

vJîÄšiy.

11.	I. x2 + 9x + 18 = 0

	 II. y2 + 13y + 42 = 0
És¡f« :	 Éil : (E)
I.	 x2 + 9x + 18 = 0

  +6				      +3

 +
6

1
			      +

3

1
	 x = –6, –3

II.	 y2 + 13y + 42 = 0

 +7				      +6

+
7

1
				      +

6

1
	 y = –7, –6
	 vdnt x ≥ y.

12.	I. 2x2 + 19x + 30 = 0
	 II. y2 – 5y + 6 = 0
És¡f« :	 Éil : (B)
I.	 2x2 + 19x + 30 = 0

 +15				     +4

+
15

2
			      +

4

2

	 x = –
15

2
, –2

II.	 y2 – 5y + 6 = 0

 –3				       –2

–
3

1
				      –

2

1
	 y = 3, 2
vdnt x < y.

13.	I. x2 – 620 = 109

	 II. y = 527+202

És¡f« :	 Éil : (E)
I.	 x2 – 620 = 109
	 x2	= 620 + 109 = 729

  ∴ x	= 729 = ± 27

II.	y	 = 527+202

  ∴ y	= 729 = ± 27
	 vdnt x = y.

14.	I. 3x – 4y = 5
	 II. 2x + 5y = 7
És¡f« :	 Éil : (A)
(i) × 2 – (ii) × 3,
6x – 8y	 = 10

6x + 15y	= 21

–8y – 15y	 = 10 – 21

	  – 23y 	 = –11

	 	  ∴ y	= 
11

23
y ï‹ kâ¥ig rk‹ghL (ii) ïš ãuâÆlî«

	 2x + 5 ×
11

23
 = 7

⇒					     2x = 7 – 
55

23

⇒					     2x = 161 55

23

− =
106

23

	 	 	 	    ∴ x = 
106

23
vdnt x > y.

15.	I. x2 – 7 3 x + 30 = 0
	 II. y2 – 5 3 y + 18 = 0
És¡f« :	 Éil : (C)

I.	 x2 – 7 3 x + 30 = 0

–5 3 			   –2 3

– 5 3

1
			   – 2 3

1

	 x = 5 3 , 2 3

II.	 y2 – 5 3 y + 18 = 0

–3 3 			   –2 3

–
3 3

1
			   – 2 3

1

	 y = 3 3 , 2 3
	 vdnt x ≥ y.
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l 103 l

RuhÉ‹  fÂjÉaš (Numerical Ability)

16.	I. x2 + 7x + 12 = 0
	 II. y2 + 5y + 6 = 0
És¡f« :	 Éil : (C)

I.	 x2 + 7x + 12 = 0

  4					        3

 
4

1
				        3

1
	 x = –4, –3

II.	 y2 + 5y + 6 = 0

 3					      2
3

1
					     2

1
	 y = –3, –2
	 vdnt x ≤ y.

17.	I. x2 – 18x – 63 = 0
	 II. y2 – 8y – 48 = 0
És¡f« :	 Éil : (E)
I.	 x2 – 18x – 63 = 0

 –21				      +3

–
21

1
				     +

3

1
	 x = 21, –3

II.	 y2 – 8y – 48 = 0

–12				      +4

–
12

1
				      +

4

1
	 y = +12, –4
	 vdnt x k‰W« y M»at‰¿‰F ïilna bjhl®ò vJîÄšiy.

18.	I. x2 – 5x – 84 = 0
	 II. y2 – 4y – 60 = 0
És¡f« :	 Éil : (E)
I.	 x2 – 5x – 84 = 0

 –12				      +7

–
12

1
				     +

7

1
	 x = +12, –7

II.	 y2 – 4y – 60 = 0

–10				      +6

–
10

1
				     +

6

1

	 y = +10, –6
	 vdnt x k‰W« y M»at‰¿‰F ïilna bjhl®ò vJîÄšiy.

19.	I. 3x2 – 8x + 4 = 0
	 II. 6y2 – 7y + 2 = 0
És¡f« :	 Éil : (C)
I.	 3x2 – 8x + 4 = 0

 –6				       –2

–
6

3
				      –

2

3

	 x = 2, 
2

3
II.	 6y2 – 7y + 2 = 0

 –4				      –3

–
4

6
				      –

3

6

	 y = 
2

3
, 

1

2
	 vdnt x ≥ y.

20.	I. x2 = 81
	 II. (y + 9)2 = 0
És¡f« :	 Éil : (C)
I.		  x2	 = 81
	 ∴ x	 = ± 9

II.	(x + 9)2	= 0
		   ∴ y	 = –9
	 vdnt x ≥ y.

21.	I. x2 – 8x – 33 = 0
	 II. y2 – 7y + 10 = 0
És¡f« :	 Éil : (E)
I.	 x2 – 8x – 33 = 0

 –11				      +3

–
11

1
				     +

3

1
	 x = 11, –3
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l 104 l

RuhÉ‹  fÂjÉaš (Numerical Ability)

II.	 y2 – 7y + 10 = 0

 –5				      –2

–
5

1
				      – 2

1
	 y = 5, 2
	 vdnt x k‰W« y M»at‰¿‰F ïilna bjhl®ò vJîÄšiy.

22.	I. 5x2 – 18x – 23 = 0

	 II. 3y2 – 16y + 21 = 0
És¡f« :	 Éil : (E)
I.	 5x2 – 18x – 23 = 0

 –23				       +5

–
23

5
				       

5

5

	 x = 
23

5
, –1

II.	 3y2 – 16y + 21 = 0

 –9				      –7

–
9

3
				      –

7

3

	 y = 3, 
7

3
	 vdnt x k‰W« y M»at‰¿‰F ïilna bjhl®ò vJîÄšiy.

23.	I. 11x + 13y = 26
	 II. 7x + 5y = 12
És¡f« :	 Éil : (A)
11x + 13y = 26				   ..... (i)
    7x + 5y = 12				   ..... (ii)
(i) × 7 – (ii) × 11

77x + 91y	 = 182

77x + 55y	 = 132

			   36y	 = 50

	 	  	 ∴ y	 = 
50

36

25

18
=

y ï‹ kâ¥ig rk‹ghL (i) ïš ãuâÆl,

11x + 13 ×
25

18
	= 26

				    11x	 = 26 × 18 – 13 × 25

⇒	
468 325

11

143

11
13

−
= =

x = 13
vdnt x > y.

24.	I. 2x2 – 21x + 40 = 0
	 II. y2 + 9y + 20 = 0
És¡f« :	 Éil : (A)
I.	 2x2 – 21x + 40 = 0

 –16				       –5

–
16

2
				     –

5

2

	 x = 8, 
5

2
II.	 y2 + 9y + 20 = 0

 +5				     +4

+
5

1
				     +

4

1
	 y = –5, –4
	 vdnt x > y.

25.	I. x2 = 9409
	 II. y = 4957+4452
És¡f« :	 Éil : (E)
I.		  x2	 = 9409
	 ∴ x	 = ± 97

II.		 y	 = 4957+4452 = 9409
	  ∴ y	 = ± 97
	 vdnt x = y.

26.	I. x2 – 4x – 5 = 0
	 II. y2 – 13y + 40 = 0

A)	 x ≤ y	 B)	x ≥ y
C)	 x < y	 D)	x > y
E)	 x = y mšyJ x k‰W« y M»at‰¿‰F ïilna bjhl®ò 

vJîÄšiy.

És¡f« :	 Éil : (D)
I.	 x2 – 4x – 5 = 0

 –5					     +1

–
5

1
				      +

1

1
	 x = 5, –1

II.	 y2 – 13y + 40 = 0

–8					    –5

–
8

1
				    –

5

1

	 y = 8, 5
	 vdnt x ≤ y.
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RuhÉ‹  fÂjÉaš (Numerical Ability)

27.	I. 6x – 3y = 3
	 II. 7y + 8x = 6561

A)	 x < y	 B)	x ≥ y
C)	 x ≤ y	 D)	x > y
E)	 x = y mšyJ x k‰W« y M»at‰¿‰F ïilna bjhl®ò 

vJîÄšiy.

És¡f« :	 Éil : (A)
I.	 6x – 3y = 3				    ..... (i)

II.	7y + 8x = 6561 = 81				   ..... (ii)
(i) 7 + (ii) × 3
42x – 21y	 = 21
24x + 21y	= 243

		  66x	 = 264

	 	 ∴ x	 = 
264

66
= 4

x ï‹ kâ¥ig rk‹ghL (i) ïš ãuâÆl,

6 × 4 – 3y	= 3
⇒	24 – 3y	= 3
			   3y	= 24 – 3 = 21
		  ∴ y	 = 7
vdnt x < y.

28.	I. x2 – 52x + 667 = 0
	 II. 2y2 + 20y + 50 = 0

A)	 x ≤ y	 B)	x ≥ y
C)	 x < y	 D)	x > y
E)	 x = y mšyJ x k‰W« y M»at‰¿‰F ïilna bjhl®ò 

vJîÄšiy.

És¡f« :	 Éil : (D)
I.	 x2 – 52x + 667 = 0

 –29				      –23

–
29

1
				     – 23

1
	 x = 29, 23

II.	 2y2 + 20y + 50 = 0

+10				    +10

+
10

2
				   +

10

2
	 y = –5, –5
	 vdnt x > y.

29.	I. x2 – 28x + 195 = 0
	 II. y2 – 36y + 323 = 0

A)	 x ≥ y	 B)	x ≤ y
C)	 x > y	 D)	x < y
E)	 x = y mšyJ x k‰W« y M»at‰¿‰F ïilna bjhl®ò 

vJîÄšiy.

És¡f« :	 Éil : (D)

I.	 x2 – 28x + 195 = 0

 –15				      –13

–
15

1
				      –

13

1
	 x = +15, +13

II.	 y2 + 36y + 323 = 0

–19				    –17

–
19

1
				   –

17

1
	 y = 19, 17
	 vdnt x < y.

30.	I. 48 14
+1= 0

2x x
−

	 II. 
45 1

= 2
2y y

+

A)	 x ≥ y	 B)	x > y
C)	 x ≤ y	 D)	x < y
E)	 x = y mšyJ x k‰W« y M»at‰¿‰F ïilna bjhl®ò 

vJîÄšiy.

És¡f« :	 Éil : (B)

I.	 48 14
1 0

2x x
− + =

	 ⇒ 48 – 14x + x2 = 0
x2 – 14x + 48 = 0

 –8				      –6

–
8

1
				      – 6

1
	 x = 8, 6

II.	
45

+
1

= 2
2y y

	 2y2 – y – 45 = 0

–10					     9

–
10

2
				      

9

2

	 y = 5, –4.5
	 vdnt x > y.
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RuhÉ‹  fÂjÉaš (Numerical Ability)

njhua kâ¥ÕL
Approximation

Directions (1 - 5) : Ñœ¡f©l Édh¡fËš Édh¡ 

F¿Æ£l (?) ïl¤âš mika nt©oa kâ¥ig njhuhakhf¡ 

fh©f.

1.	 (18.79)2 + (32.95)2 – (41.25)2 = ? – 1369.
A)	 1240	 B)	1120
C)	 1140	 D)	1225
E)	 1080

És¡f« :	 Éil : (C)
? – 1369 ≈ (19)2 + (33)2 – (41)2

≈ 361 + 1089 – 1681
⇒ 1450 – 1681 = –231
? = 1369 – 231 = 1138 ≈ 1140
2.	 ? = 2685.699 – 2085.021 + 565.892 – 973.232

A)	 173	 B)	194
C)	 184	 D)	180
E)	 190

És¡f« :	 Éil : (B)
? ≈ 2686 – 2085 + 566 – 973
⇒ 3252 – 3058 = 194

3.	 19683.08 ÷ 8.9823( ) × 145 = ? ÷ 3.045.

A)	 4025	 B)	2815
C)	 2615	 D)	3915
E)	 2775

És¡f« :	 Éil : (D)

? ÷ 3.045 = 19683 08 8 982 1453 . .÷( ) ×

≈ ÷( ) ×19683 9 1453

⇒ (27 ÷ 3) × 145
⇒ 9 × 145 = 1305
? = 1305 × 3 = 3915
4.	 6325.89 ïš 139.799% – 2299 ïš ?% = 7781.299.

A)	 38	 B)	40
C)	 48	 D)	42
E)	 58

És¡f« :	 Éil : (C)

2299 ïš ?% ≈
×

−
140 6326

100
7782

⇒ 8856.4 – 7782 = 1074.4

⇒
×? 2300

100
= 1074.4

? = 
1074 4

23

.
= 46.71 ≈ 48.

5.	 12.89 × 17.65 – 8.789 × 13.897 = ?
A)	 2664	 B)	14664
C)	 10164	 D)	11664
E)	 10264

És¡f« :	 Éil : (D)
?  ≈ 12.89 × 17.65 – 8.789 × 13.897

≈ 13 × 18 – 9 × 14 = 234 – 126 = 108
? = 108 × 108 = 11664
6.	 23.002 × 43.952 – 353.020 = ?

A)	 559	 B)	476
C)	 659	 D)	359
E)	 621

És¡f« :	 Éil : (C)
? ≈ 23 × 44 – 353
? = 1012 – 353 = 659
7.	 6885.008 – 516.892 – 104.972 = ?

A)	 6103	 B)	6263
C)	 5921	 D)	6563
E)	 7063

És¡f« :	 Éil : (B)
? ≈ 6885 – 517 – 105 = 6263

8.	 84
1

7
  +  92 

1

4
  +  105  

3

7
= ?

A)	 282	 B)	275
C)	 264	 D)	289
E)	 294

És¡f« :	 Éil : (A)

? = (84 + 92 + 105) + 
1

7

1

4

3

7
+ +





⇒ +
+ +





= +281
4 7 12

28
281

23

28

⇒ 281 + 
23

28
 ≈ 282

9.	 (0.343)3 ÷ (0.49)2 × (0.7)2 = (0.7)? – 1.98

A)	 9	 B)	8
C)	 6	 D)	5
E)	 11

És¡f« :	 Éil : (A)

0 7

0 7
0 7 0 7

3 3

2 2
2 2.

.
. . ?( )

( )
× ( ) ≈ ( )

×

×
−

⇒ ( ) × ( ) ≈ ( ) −0 7 0 7 0 75 2 2. . . ?

⇒ ( ) = ( ) −0 7 0 77 2. . ?
			  ∴ ? = 9

10.	? ïš 16.8% = 126 ïš 7.1% ïš 572.2
A)	 21231	 B)	29676
C)	 26442	 D)	19605
E)	 22342

És¡f« :	 Éil : (B)
17

100
572

7

100
126× ≈ × ×?

∴ =
× × ×

×
=?

572 7 126 100

17 100
29676

bfhŸF¿ Édh¡fŸ
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RuhÉ‹  fÂjÉaš (Numerical Ability)

11.	16.05 × 7.99 – 42.02 = ?
A)	 140	 B)	75
C)	 110	 D)	150
E)	 86

És¡f« :	 Éil : (E)
? ≈ 16 × 8 – 42
   = 128 – 42 = 86
12.	139.96 × 3.02 – 111.97 × 2.032 = ?

A)	 170	 B)	196
C)	 330	 D)	150
E)	 280

És¡f« :	 Éil : (B)
140 × 3 – 112 × 2 = 420 – 224 = 196
13.	85.04 ÷ 4.97 = ? ÷ 12.99

A)	 304	 B)	291
C)	 120	 D)	117
E)	 221

És¡f« :	 Éil : (E)

? ≈ 85 ×
1

5
× 13

⇒ 17 × 13 = 221
14.	144.79 ÷ 4.92 × 3.04 = ? ïš 75.01%

A)	 180	 B)	68
C)	 140	 D)	116
E)	 120

És¡f« :	 Éil : (D)

? ≈ 145 ×
1

5
× 3 × 

100

75
⇒ 29 × 4 = 116
15.	(279.96 + 122.01) ïš 71.95% = (?)2

A)	 10	 B)	14
C)	 20	 D)	17
E)	 12

És¡f« :	 Éil : (D)

(?)2 ≈ 
72

100
× (280 + 122)

(?)2 ≈ 0.72 × 402 = 289.44

∴ ? = 289 44.  ≈ 17

16.	 1

24.99×32.12

1

32.12
× 406.103 2×3 = ?−





−( )
A)	 –36	 B)	–72
C)	 12	 D)	–12
E)	 36

És¡f« :	 Éil : (D)

? ≈ 
1

25 32

1

32
406 6

×
−





× −( )

⇒
−
×







× =
−

×
× = −

1 25

25 32
400

24

25 32
400 12

17.	14.03 + (28.02)2 ÷ 6.98 + (3.96)2 = ?
A)	 120	 B)	142
C)	 152	 D)	132
E)	 112

És¡f« :	 Éil : (B)
? ≈ 14 + (28)2 ÷ 7 + (4)2

⇒ 14 + 784 ÷ 7 + 16
⇒ 14 + 112 + 16 = 142
18.	(9.99)2 + 13.03 × 3.98 – (5.01)3 = ? – 120

A)	 130	 B)	124
C)	 147	 D)	167
E)	 132

És¡f« :	 Éil : (C)
? – 120 ≈ (10)2 + 13 × 4 – (5)3

⇒ ? – 120	= 100 + 52 – 125
	 ? – 120	= 152 – 125
			   ?	 = 152 – 125 + 120 = 147
19.	111.01 – 211.09 + (12.01)2 = ? – (4.09)2

A)	 45	 B)	35
C)	 60	 D)	85
E)	 75

És¡f« :	 Éil : (C)
? – (4)2 ≈ 111 – 211 + 144
? = 44 + (4)2 = 60
20.	3.07 × 14.96 + (15.02)2 – (11.03)2 = ?

A)	 101	 B)	150
C)	 133	 D)	120
E)	 130

És¡f« :	 Éil : (B)
? ≈ 3 × 15 + (15)2 – (11)2

? = 45 + 225 – 121
⇒ 45 + 104 = 149 ≈ 150
21.	105.27 ÷ 4.87 + 19.01 × 23 = ?

A)	 328	 B)	458
C)	 618	 D)	520
E)	 315

És¡f« :	 Éil : (B)

? ≈ 105 × 
1

5
 + 19 × 23

⇒ 21 + 437 = 458
22.	2050 ïš 165.8% + 61.98 × 19.99 – 31.002 = ?

A)	 3612	 B)	6512
C)	 5612	 D)	4612
E)	 5021

És¡f« :	 Éil : (D)

? ≈ 2050 × 
166

100
 + 62 × 20 – 31

⇒ 3403 + 1240 – 31 = 4612

23.	 343 + 625 + 1024 29.75+21.67 = ?
1
3

1
4

1
2( ) ( ) ( ) −

A)	 36	 B)	26
C)	 19	 D)	42
E)	 68

És¡f« :	 Éil : (A)

? ≈ 343 + 625 + 1024
1
3

1
4

1
2( ) ( ) ( )  – 30 + 22

⇒ 7 + 5 + 32 – 30 + 22 = 36
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RuhÉ‹  fÂjÉaš (Numerical Ability)

24.	 25
11

15
24

7

13
21

2

5
17

1

5
12.43 = ?+ − − +

A)	 19	 B)	24
C)	 29	 D)	45
E)	 52

És¡f« :	 Éil : (B)
386

15

319

13

105

5

86

5
12 43+ − − + .

25.7 + 24.5 – 21 – 17.2 + 12.43
62.63 – 38.2 = 24.43 ≈ 24

25.	 5

14
× 8035.87 + 

9

175
 × 78924.89 = ?

A)	 5829	 B)	9729
C)	 6929	 D)	4529
E)	 5904

És¡f« :	 Éil : (C)

? = 
5

14
× 8035.87 + 

9

175
 × 78924.89

? ≈ 
5

14
× 8036 + 

9

175
 × 78925

⇒ 5 × 574 + 451 × 9
⇒ 2870 + 4059 = 6929
26.	349.95 ïš (6693.98 – 3092.02 – 3551.92)% + ? = 

42999.95 + 599.92
A)	 56455	 B)	43478
C)	 36595	 D)	41435
E)	 43425

És¡f« :	 Éil : (E)
350 ïš (6694 – 3092 – 3552) + ? = 43000 + 600
? ≈ 43600 – 350 ïš 50%
= 43600 – 175 = 43425

27.	 342.2002 68921.10

19.11

3× = (?) – (12.009)3

A)	 2466	 B)	3566
C)	 1966	 D)	2166
E)	 3466

És¡f« :	 Éil : (A)

⇒ 
342× 68921

19

3

 = (?) – (12)3

? ≈ 
342 41

19

×
+ (12)3

⇒ 738 + 1728 = 2466

28.	13 3

5
×169.9009 + 1295.88 4.12÷( )  = ?

A)	 2113	 B)	2694
C)	 2312	 D)	3652
E)	 2321

És¡f« :	 Éil : (E)

? ≈ 
68

5
× 170 + 

36

4
⇒ 2312 + 9 = 2321

29.	 1023.998 16.026 19.9921= ? 657.16÷ × −
A)	 642	 B)	787
C)	 897	 D)	697
E)	 767

És¡f« :	 Éil : (D)
⇒ 1024  ÷ 16 × 20 ≈ ? – 657

∴ ? ≈ 
32

16
× 20 + 657

= 40 + 657 = 697
30.	(2397.021 + 461.021 – 105.045) ÷ 627  × (15.05) 

= ?
A)	 2562	 B)	1852
C)	 1762	 D)	1652
E)	 1462

És¡f« :	 Éil : (D)
? ≈ (2397 + 461 – 105) ÷ 625  × 15
? = (2858 – 105) ÷ 25 × 15

⇒ 
2753

25
× 15 = 1651.8 ≈ 1652

31.	6666.1 × 11 + 2222.1 × 11.01 + 4444.1 × 11.01 
– 5555 × 10.99 = ?
A)	 78750	 B)	87850
C)	 85550	 D)	82630
E)	 88780

És¡f« :	 Éil : (C)
? ≈ 6666 × 11 + 2222 × 11 + 4444 × 11 – 5555 × 11
⇒ 11 × 1111 (6 + 2 + 4 – 5)
⇒ 11 × 1111 (12 – 5) = 11 × 1111 × 7
= 85547 ≈ 85550
32.	472.03 × 101.02 + 336.98 + 472.03 – 137.003 × 

8.003 ÷ 2.003 = ?
A)	 47930	 B)	48625
C)	 45925	 D)	49730
E)	 47165

És¡f« :	 Éil : (A)
? ≈ 472 × 101 + 337 + 472 – 137 × 

8

2⇒ 47672 + 337 + 472 – 548
⇒ 48481 – 548 = 47933 ≈ 47930
33.	2356.007 × 8.001 – 1399.98 + 1128.007 + 429.96 

= ? – (35 × 12.01)
A)	 14926	 B)	19692
C)	 18729	 D)	19426
E)	 16426

És¡f« :	 Éil : (D)
? ≈ 2356 × 8 – 1400 + 1128 + 430 + 420
⇒ 18848 – 1400 + 1128 + 430 + 420
⇒ 20826 – 1400 = 19426

34.	 3135 4095 4915 2305 = ?
1
3

1
3× ( ) + ( ) − – 370.001

A)	 487	 B)	411
C)	 458	 D)	530
E)	 548

És¡f« :	 Éil : (B)

? ≈ 3136 4096 4913 2304 3703 3+ + − +
⇒ 56 + 16 + 17 – 48 + 370
⇒ 459 – 48 = 411
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35.	119.98 × 12.017 × 90.11 + ? = 159996
A)	 33130	 B)	30926
C)	 32560	 D)	31586
E)	 30400

És¡f« :	 Éil : (E)
? ≈ 159996 – (120 × 12 × 90)
⇒ 159996 – 129600
⇒ 30396 ≈ 30400
36.	52.003 ÷ 12.96 × 168.70 + 151.001 = ?

A)	 670	 B)	827
C)	 537	 D)	475
E)	 920

És¡f« :	 Éil : (B)

? ≈ 52 ×
1

13
× 169 + 151

= 4 × 169 + 151 = 676 + 151 = 827
37.	419.998 + 5233.04 – 5680.04 ÷ 15.87 = ?

A)	 6273	 B)	4245
C)	 5968	 D)	5298
E)	 3230

És¡f« :	 Éil : (D)

? ≈ 420 + 5233 – 5680 ×
1

16
= 420 + 5233 – 355 = 5298

38.	 624.75 576.01 50.21 = ?+ +
A)	 10	 B)	8
C)	 15	 D)	19
E)	 23

És¡f« :	 Éil : (A)

? ≈ 625 576 50 25 24 50 99+ + = + + =
99 100 10≈ =

39.	135 ïš 2 1

3
+ 210.60 + 96.02 ïš 4 1

3
 = ?

A)	 542	 B)	670
C)	 942	 D)	720
E)	 842

És¡f« :	 Éil : (C)

? ≈ 135 ïš 
7

3
+ 211 + 96 ïš 13

3
= 7 × 45 + 211 + 416 = 942

40.	2688 ïš 25% + 1200 ïš 59.48%
A)	 1450	 B)	1380
C)	 1750	 D)	1905
E)	 2100

És¡f« :	 Éil : (B)

? ≈ 
25

100
 × 2688 + 

59

100
× 1200

⇒ 672 + 708 = 1380
41.	26.021 × 221.001 + 55.021 = ? + 1275 – 22.86 × 2

A)	 5024	 B)	4572
C)	 7260	 D)	6655
E)	 3572

És¡f« :	 Éil : (B)
? ≈ 26 × 221 + 55 – 1275 + 23 × 2
   = 5746 + 55 – 1275 + 46 = 4572

42.	120 ïš 23.84% – 110.001 ïš ?% = 27
A)	 7	 B)	6
C)	 4	 D)	2
E)	 12

És¡f« :	 Éil : (D)

≈ × − × =
24

100
120 110

100
27

?

⇒ − =
2880

100

110

100
27

?

⇒ − =28 88
11

100
27.

?

≈ 29 – 1.1? = 27
⇒ 1.1? = 29 – 27 = 2

∴ = = ≈?
.

.
2

1 1
1 8 2

43.	 19

2
 ïš 24% + 19.35 ïš 92.2% = ? – 105

A)	 124	 B)	82
C)	 74	 D)	194
E)	 64

És¡f« :	 Éil : (A)

? ≈
×

+
×

+
19 24

200

92 19

100
105

   = 2.28+17.48+105 ≈ 2+17+105 = 124
44.	(5278.87 + 2256.23) – (210.12 × 22.45) = ?

A)	 1910	 B)	3110
C)	 2915	 D)	4010
E)	 2210

És¡f« :	 Éil : (C)
? ≈ (5279 + 2256) – (210 × 22)
   = 7535 – 4620 = 2915

45.	 16.001×22.003 5.001×11.02

4.002 + 144 + 3.001
= ?2 2

−
( ) ( )

A)	 8	 B)	5
C)	 13	 D)	19
E)	 11

És¡f« :	 Éil : (A)

? ≈
× − ×

+ +
16 22 5 11

16 12 9

  
⇒

−
= = ≈

352 55

37

297

37
8 02 8.

46.	 ?  × 359.87 ÷ 9.01 = 150 + 109.99
A)	 51	 B)	42
C)	 32	 D)	48
E)	 37

És¡f« :	 Éil : (B)

? ≈
+( ) ×





150 110 9

360

2

   ⇒ (6.5)2 = 42.25 ≈ 42
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RuhÉ‹   Ó cŒ¤Jz®jš / òÇâw‹ (Reasoning Ability)

REASONING ABILITY  (cŒ¤Jz®jš / òÇâw‹)
1.	 F¿pL - kWF¿pL (Coding - Decoding)	 ... 2 - 13

2.	 M§»y mfu tÇir vG¤JfË‹ ïlkh‰WKiw 	 ... 14 - 17

	 (Alphabetical Operation)
3.	 v©fË‹ ïlkh‰WKiw (Numerical Operation)	 ... 18 - 30

4.	 ïu¤j cwîfŸ (Blood Relations)	 ... 31 - 39

5.	 j®¡fÉaš âw‹  (Syllogism)	 ... 40 - 55

6.	 ïU¡if mik¥ò Kiw  (Seating Arrangement)	 ... 56 - 63

7.	 KGik bg‰w juîfŸ (Data Sufficiency)	 ... 64 - 68
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RuhÉ‹   Ó cŒ¤Jz®jš / òÇâw‹ (Reasoning Ability)

tif - 1
ïªj tif Édh¡fËš ïu©L mšyJ _‹W, K«_‹W 

th®¤ijfŸ bfh©l brh‰bwhl®fS«, m¢brh‰bwhl®fS¡FÇa 

bghUŸ K«_‹W th®¤ijfËY« bfhL¡f¥g£oU¡F«.

x¤j th®¤ijfisí«, mj‰FÇa r§nfj th®¤ijfisí« 

Ú¡Ftj‹ _y« mšyJ ek¡F¤ bjÇªj th®¤ijfË‹ F¿plhf¡ 

fUJtj‹ _y« Éil fhz nt©L«.

v.fh : 1 

1.	 xU r§nfj bkhÊÆš ‘Pre not bis’ v‹gJ ‘Smoking is 
harmful vdî«, ‘Vog dor not’ v‹gJ ‘Avoid harmful 
habit’, vdî« ‘Dor bis yel’ v‹gJ ‘Please aviod 
smoking’ vdî« bfhL¡f¥g£oU¥ã‹ Habit v‹gj‹ 

F¿pL v‹d?

A)	Vog	 B)	 Not

C)	 Dor	 D)	 Dis	 Éil : (A)

     pre not  bis  → smoking  is harmful

     vog dor  not   → avoid  harmful  habit

    dor  bis  yel  → please  avoid   smoking  

      pre ⇒ is ;   vog ⇒ habit ;   yel ⇒ please

tif - 2
tif - 1 I v›thW Ô®î brŒnjhnkh mJ ngh‹Wjh‹ Ô®î 

fhz nt©L«. m§F r§nfj th®¤ijfŸ bfhL¡f¥g£oUªjd. 

mj‰F¥ gâyhf ï§F v©fŸ ju¥g£oU¡F«.

v.fh : 1

xU r§nfj bkhÊÆš ‘389’ v‹gJ ‘run very fast’ 
vdî« 964 v‹gJ come back fast vdî« 487 v‹gJ run 
and come vdî« bfhL¡f¥go‹ come v‹gj‹ ïy¡f« 

vJ?

A)	7	 B)	 9
C)	 4	 D)	 8  	 Éil : (C)

3 8  9  → run  very fast

9  6 4   → come   back  fast  

4  8  7  → run  and come

very ⇒ 3   ;   back ⇒ 6   ;   and ⇒ 7

nkny bfhL¡f¥g£l ÉdhÉš nf£f¥g£l th®¤ij 

2-MtJ k‰W« 3 -MtJ brh‰bwhl®fËY« bghJthf cŸs 

v© ï§F Éilahf¡ bfhŸs¥gL«. vdnt, come v‹gj‹ 

ïy¡f« 4 MF«.

tif - 3
xU F¿¥ã£l F¿p£L bkhÊÆš 'FRIEND' v‹gJ 

'HUMJTK' v‹W F¿¡f¥g£lhš, 'CANDLE' v‹gJ v›thW 

F¿¡f¥gL« ?

A)	DEQJQM	 B)	 DCQHQK

C)	 EDRIRL	 D)	 ESJFME� Éil : (C)

M§»y mfutÇir¥go,

F   R  I  E  N  D   →   H  U  M  J  T  K  
+2
+3
+4
+5
+6
+7

ïnjnghš,

 

C  A  N  D  L  E   →   E  D  R  I  R  L  
+2
+3
+4
+5
+6
+7

1. F¿pL - kWF¿pL

M§»y mfutÇirÆš vâbuâ® vG¤JfŸ

A

↔
Z

B

↔
Y

C

↔
X

D

↔
W

E

↔
V

F

↔
U

G

↔
T

H

↔
S

I

↔
R

J

↔
Q

K

↔
P

L

↔
O

M

↔
N

HHH
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RuhÉ‹   Ó cŒ¤Jz®jš / òÇâw‹ (Reasoning Ability)

1.	 xU F¿p£L bkhÊÆš 'CANDLE' v‹gJ 'FDQGOH' 
v‹W vGj¥g£lhš, 'MINUTE' v‹gJ v›thW 

vGj¥gL« ?

A)	PLQXWH	 B)	 PQXLHW
C)	 PHWXQL	 D)	 PXHLQW	 Éil : A
És¡f« :

C	 A	 N	 D	 L	 E	 →	 F	 D	 Q	 G	 O	H
+3
+3
+3
+3
+3
+3

ïnjnghš,

M	 I	 N	 U	 T	 E	 →	 P	 L	 Q	 X	 W	 H
+3
+3
+3
+3
+3
+3

2.	 'MASTER' v‹gJ 'SAMRET' v‹W F¿¡f¥g£lhš, 

'CARROT' v‹gJ v›thW F¿¡f¥gL« ?

A)	ARMOTR	 B)	 RCATRO
C)	 RCATOR	 D)	 RACTOR	 Éil : D
És¡f« :

M  A  S  

S   A  M  

   T   E  R  

R   E  T  
ïnjnghš,

C   A  R  

R   A  C  

   R   O  T  

T   O  R  

3.	 'Kit Mit Fit' v‹whš 'I am laborious', 'Zit Rit Kit'  
v‹whš 'Laborious is dangerous', 'Sil Fis Rit' v‹whš 

'Dangerous very troublous' v‹W« F¿¡f¥g£lhš 'is'  
v‹w brhšÈ‹ kW F¿pL v‹d ?

A)	Kit	 B)	 Zit
C)	 Rit	 D)	 Mit	 Éil :  B
És¡f« :

Kit Mit Fit I am laborious

Zit

very troublous

Kit laborious dangerous

dangerous

is

sil Fis

Rit

Rit

zit ⇒ is
4.	 xU F¿¥ã£l F¿p£L bkhÊÆš '345' v‹gJ 'Veera is 

gentle' v‹gijí« '579' v‹gJ 'Veera kind hearted' 
v‹gijí« '124' v‹gJ 'Kanchan also gentle' 
v‹gijí« F¿¤jhš 'Gentle' v‹w brhšiy¡ F¿¡F« 

v© vJ ?

A)	3	 B)	 4
C)	 5	 D)	 9	 Éil :  B

És¡f« :

3 4 5 Veera

5 9

Kanchan also

kind hearted

1 2

7

4

is gentle

Veera

gentle

Gentle ⇒ 4
5.	 ‘nkf«’ v‹gJ ‘kiH’ vdî« ‘kiH’ v‹gJ ‘ku«’ vdî« 

‘ku«’ v‹gJ ‘u«g«’ vdî« ‘u«g«’ v‹gJ ‘åL’ vdî« 

‘åL’ v‹gJ ‘ÉLâ’ vdî« miH¡f¥g£lhš ‘ku«’ 

mW¡f cjîtJ vJ ?

A)	u«g«	 B)	 åL

C)	 ÉLâ	 D)	 kiH	 Éil : B
És¡f« :

ku« mW¡f cjîtJ u«g« ï§F u«g« v‹gj‹ F¿pL  

‘åL’ MF«.

6.	 'DEAR' v‹gJ 'FGCT' v‹W F¿¡f¥g£lhš 'READ' 
v‹gJ v›thW F¿¡f¥gL« ?

A)	TGCF	 B)	 FGCF
C)	 TSFC	 D)	 TCGF	 Éil :  A
És¡f« :

D	E	 A	 R	 →	 F	 G	 C	 T
+2
+2
+2
+2

ïnjnghš, R	 E	 A	 D	 →	 T	 G	 C	 F
+2
+2
+2
+2

7.	 xU F¿¥ã£l F¿p£L bkhÊÆš 'DIVISION' v‹gJ 

'DVISIOIN' v‹W F¿¡f¥g£lhš, 'STATES' v‹gJ 

v›thW F¿¡f¥gL« ?

A)	SATETS	 B)	 STAETS
C)	 SATTES	 D)	 SAETTS	 Éil :  A
És¡f« :

I   S  

S   I  

I   O  

O   I  

I   V  

V   I  

N  

N

D

D

ïnjnghš, T   E  

E   T  

T   A  

A   T  

S  

S

S

S

8.	 'TOMB' v‹gJ 'MBOR' v‹W F¿¡f¥g£lhš, 'GOAL'  
v‹gJ v›thW F¿¡f¥gL« ?

A)	ALOG	 B)	 ALOE
C)	 LOAG	 D)	 EALO	 Éil : B
És¡f« :

T	 O	 M	 B	 →	 M	 B	 O	 R
1	 2	 3	 4	 →	 3	 4	 2	 1

–2
G	O	 A	 L	 →	 A	 L	 O	 E
1	 2	 3	 4	 →	 3	 4	 2	 1

–2

gÆ‰á Édh¡fŸ
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RuhÉ‹   Ó cŒ¤Jz®jš / òÇâw‹ (Reasoning Ability)

9.	 'GOAL' v‹gJ 'HPBM' v‹W« 'FROCK' v‹gJ 
'GSPDL' v‹W« F¿¡f¥g£lhš 'LOFAR' v‹gJ v›thW 

F¿¡f¥gL« ?

A)	MPGZO	 B)	 MNEBS
C)	 MPGBS	 D)	 MPEBR	 Éil :  C
És¡f« :

G	O	 A	 L	 →	 H	  P	 B	 M
+1
+1
+1
+1

F	 R	 O	C	 K	 →	 G	 S	 P	 D	 L
+1
+1
+1
+1
+1

ïnjnghš,
L	 O	 F	 A	 R	 →	 M	 P	 G	 B	 S

+1
+1
+1
+1
+1

10.	 'CHAMBER' v‹gJ 'XSZNYVI' v‹W F¿¡f¥g£lhš 

'WLFYOV'  v‹gJ v›thW F¿¡f¥gL« ?

A)	DOVBLE	 B)	 DOUCLF
C)	 DLUBOE	 D)	 DOUBLE	 Éil :  D
És¡f« :

M§»y mfutÇirÆ‹ vâbuâ® vG¤JfŸ

A	 B	 C	 D	 E	 F	 G	 H	 I	 J	 K	 L	 M

	 	 	 	 	 	 	 	 	 	 	 	
Z	 Y	 X	 W	 V	 U	 T	 S	 R	 Q	 P	 O	 N
C	 H	 A	 M	 B	 E	 R

	 	 	 	 	 	
X	 S	 Z	 N	 Y	 V	 I
ïnjnghš,

W	 L	 F	 Y	 O	 V

	 	 	 	 	
D	 O	 U	 B	 L	 E

11.	 'PARK' v‹gJ '5394' v‹W« 'SHIRT' v‹gJ 

'17698'  v‹W« 'PANDIT' v‹gJ '532068' v‹W« 

F¿¡f¥g£lhš, 'NISHAR' v‹gJ v›thW F¿¡f¥gL«?

A)	266734	 B)	 231954
C)	 201739	 D)	 261739	 Éil :  D
És¡f« :
P	 A	 R	 K

	 	 	
5	 3	 9	 4                

; 

      

S	 H	 I	 R	 T
	 	 	 	

1	 7	 6	 9	 8
vdnt,

P	 A	 N	 D	 I	 T
	 	 	 	 	

5	 3	 2	 0	 6	 8    

; 

  

N	 I	 S	 H	 A	 R
	 	 	 	 	

2	 6	 1	 7	 3	 9
12.	 'INSURE' v‹gJ '951395' v‹W F¿¡f¥g£lhš 

'PATRIOT' v‹gJ v›thW F¿¡f¥gL« ?

A)	7192692	 B)	 7199262
C)	 7129962	 D)	 7162992	 Éil :  C

És¡f« :

M§»y mfutÇir¥go,

INSURE
I → 9 ; N → 14 → 1 + 4 = 5
S → 19 → 1 + 9 = 10 → 1
U → 21 → 2 + 1 = 3
R → 18 → 1 + 8 = 9
E → 5
I	 N	 S	 U	 R	 E

	 	 	 	 	
9	 5	 1	 3	 9	 5

ïnjnghš,

P → 16 → 1 + 6 = 7
A → 1 ; T  → 20  → 2+0 = 2
R → 18 → 1 + 8 = 9 ; I → 9 
O → 15 → 1 + 5 = 6 ; T → 20 → 2 + 0 = 2
P	 A	 T	 R	 I	 O	 T

	 	 	 	 	 	
7	 1	 2	 9	 9	 6	 2

13.	 xU F¿¥ã£l F¿p£L bkhÊÆš 'MARE' v‹gJ 'NESI' 
v‹W« 'LOVER' v‹gJ 'MUWIS' v‹W« F¿¡f¥g£lhš 

'ABOVE' v‹gJ v›thW F¿¡f¥gL« ?

A)	BCPWF	 B)	 ECUWI
C)	 EZUTI	 D)	 ZCNWD	 Éil :  B
És¡f« :
M	 A	 R	 E

	 	 	
N	 E	 S	  I      

; 

     

L	 O	 V	 E	 R
	 	 	 	

M	 U	 W	 I	 S

nk‰f©l ïu©L kWF¿pLfËY« M§»y mfu tÇir¥go 
consonant vG¤J¡F mj‰fL¤j vG¤J« vowel 
vG¤J¡F mj‰fL¤j vowel vG¤J« mikªJŸsd.

vdnt,

A	 B	 O	 V	  E
	 	 	 	

E	  C	    U   W   I
14.	 'COIN' v‹gJ 'FMGQ' vd¡ F¿¡f¥g£lhš 'TOWN' 

v‹gJ v›thW F¿¡f¥gL« ?

A)	WUMQ	 B)	 WMUQ
C)	 MWUQ	 D)	 WRUL	 Éil :  B
És¡f« :

C	 O	 I	 N	 →	 F	 M	 G	 Q
+3
– 2
– 2
+3

ïnjnghš, T	 O W	 N	 →	 W	M	 U	 Q
+3
– 2
– 2
+3

15.	 'OFFICE' v‹gJ 'NGGHDD' v‹W F¿¡f¥g£lhš 

'DENOTE' v‹gJ v›thW F¿¡f¥gL« ?

A)	CDMNSD	 B)	 EDONUD
C)	 EFOPUF	 D)	 EODNDU	 Éil :  B
És¡f« :

vowels → –1 ; consonants → +1
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16. T‰WfŸ k‰W« Ô®îfŸ

ï›tif Édh¡fËš ïu©L mšyJ _‹W T‰WfŸ 

bfhL¡f¥g£oU¡F«. mt‰iw¤ bjhl®ªJ ïu©L Ô®îfŸ 

bfhL¡f¥g£oU¡F«. mt‰¿š rÇahd Ô®it¡ fh©f.

A) Ô®î,  I- rÇahdJ

B) Ô®î, II- rÇahdJ

C) Ô®î I (m) Ô®î II rÇahdit

D) Ô®î I k‰W« Ô®î II jtwhdit

E) Ô®î I k‰W« Ô®î II rÇahdit

1.	 T‰WfŸ : F < G < D ;  D < H > C ;
  	            F = C < A
   Ô®îfŸ  : I. G < C,   II.  H = A

És¡f« : � Éil : D
bfhL¡f¥g£l T‰WfŸ :

F < G < D  ......... (i)
D < H > C ......... (ii)
F = C < A ......... (iii)
(i) k‰W« (ii) I ïiz¤jhš, G < D < H > H

G k‰W« C M»a ïu©ilí« x¥ãl KoahJ. vdnt Ô®î  

I (G < C)  jtW.

H > C < A

H k‰W« A M»a ïu©ilí« x¥ãl KoahJ. vdnt Ô®î  

II (H = A)  k‰W« jtW.

2.	 T‰W : M ≤ N < O ≤ P ≤ R ≤ S
   Ô®îfŸ   : I. O ≤ S ,    II.  M < R

És¡f« : � Éil : E
O ≤ P ; P ≤ R ⇒ O ≤ R
O ≤ R ; R ≤ S ⇒ O ≤ S
vdnt Ô®î I (O ≤ S) rÇ.

M ≤ N ;  N < O ⇒ M < O
M< O ; O ≤ P  ⇒ M < P 
M< P ;  P ≤ R  ⇒ M < R
vdnt Ô®î II (M < R) rÇ.

3.	 T‰WfŸ : C < H = J ;  X ≤ Y < J ;  N > X ≥ Z
   Ô®îfŸ   : I. Y > Z ,    II. Y = Z

És¡f« : � Éil : C
bfhL¡f¥g£LŸs T‰WfŸ

C < H = J  	 .... (i)
X ≤ Y < J  	 .... (ii)
N > X ≥ Z	 .... (iii)
(i), (ii) & (iii)-I ïiz¤jhš C < H = J >Y ≥ X ≥ Z.
Y ≥ X ; X ≥ Z  ⇒ Y ≥ Z

Y MdJ Z-I Él bgÇajhfî« ïU¡fyh« ; rkkhfî« 

ïU¡fyh«. vdnt Ô®î I (Y > Z) mšyJ Ô®î II (Y = Z) rÇahf 

ïU¡fyh«.

4.	 T‰WfŸ : D < E = F >G ≥ H;  K ≥ F
   Ô®îfŸ   : I. D < H ,    II. K > G

És¡f« : � Éil : B
bfhL¡f¥g£LŸs T‰WfŸ :

D < E = F > G ≥ H 	.... (i)

K ≥ F		  .... (ii)
D k‰W« H-I x¥ãl KoahJ. vdnt T‰W I (D < H) jtW.

T‰W (i) & (ii) I ïiz¤jhš,

K ≥ F > G
K ≥ F ;  F > G ⇒ K >G
vdnt T‰W II (K > G) rÇ.

5.	 T‰WfŸ :  R > I = N > P ;  Y ≥ R > K ;  N ≤ E < Z
   Ô®îfŸ  :  I. K > I     II.  I < Z � Éil : B
T‰W (i), (ii)-I ïiz¤jhš, K < R > I 

vdnt T‰W I (K > I) jtW.

T‰W (i) & (ii)-I ïiz¤jhš,

I = N ≤ E < Z
I = N ; N ≤ E ⇒ I ≤ E
I ≤ E  ; E < Z ⇒ I < Z
vdnt T‰W II (I < Z) rÇ.

6.	 T‰W :  L < P ≤ G ≤ E  = O < U
   Ô®îfŸ  :  I. O ≥ P     II. U > L � Éil : E
És¡f« :

O = E ≥ G ≥ P
O = E ; E ≥ G ⇒ O ≥ G.
O ≥ G ; G ≥ P ⇒ O ≥ P 
vdnt Ô®î I (O ≥ P) rÇ.

U > O = E ≥ G ≥ P > L 
U > O ; O = E ⇒ U > E
U > E ; E ≥ G ⇒ U > E
U > E ; G ≥ P ⇒ U > P
U >P ; P > L  ⇒ U > L
vdnt Ô®î II (U>L) rÇ.

7.	 T‰WfŸ :  N > S > E ≥ Q  ;  C ≥ D < J  = N
   Ô®îfŸ  :  I. D > S     II. C = E

És¡f« :� Éil : D
T‰W (i) & (ii) ïiz¤jhš,  D < J = N => S

D k‰W« S ïu©ilí« x¥ãl KoahJ. vdnt Ô®î I (D > S) 
jtW.
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RuhÉ‹   Ó cŒ¤Jz®jš / òÇâw‹ (Reasoning Ability)

T‰W (i) k‰W« (ii)-I ïiz¤jhš,

C ≥ D < J = N > S > E

C k‰W« E ïu©ilí« x¥ãl KoahJ. vdnt Ô®î II (C = E) 
jtW.

8.	 T‰WfŸ :  G ≥ T = E < D ;   N >L ≥ G
   Ô®îfŸ  :  I. D > N     II. L ≥ E

És¡f« :� Éil : B
G ≥ T = E < D	 ... (i)

N > L ≥ G	 ... (ii)

(i) k‰W« (ii) I ïiz¤jhš,   D > E = T ≤ G ≤ L < N  

D k‰W« N ïu©ilí« x¥ãl KoahJ. vdnt T‰W I (D > N) 
jtW.

L ≥ G ≥ T = E

L ≥ G ; G ≥ T ⇒ L ≥ T

L ≥ T ; T = E ⇒ L ≥ E
vdnt T‰W II (L ≥ E) rÇ.

9.	 T‰WfŸ :  T ≤ Q = S < P   ;   T ≤ R ≤ E
   Ô®îfŸ  :  I. P > T     II. E < Q

És¡f« :� Éil : A
	 T ≤ Q = S < P	 ... (i)

	 T ≤ R ≤ E	 ... (ii)

P > S = Q ≥ T

P > S ; S = Q ⇒ P > Q 

P > Q ; Q ≥ T ⇒ P > T

vdnt, Ô®î I (P > T) rÇ.

(i) k‰W« (ii)I ïiz¤jhš,  E ≥ R ≥ T ≤ Q

E k‰W« Q ïu©ilí« x¥ãl KoahJ. vdnt T‰W II (E < Q) 
jtW.

10.	 T‰W :  S > P ≤ V = D < W ≤ H = B
   Ô®îfŸ  :  I. W > P     II. D ≥ B

És¡f« :� Éil : A
W > D = V ≥ P

W > D ; D = V ⇒ W > V

W > V ; V ≥ P  ⇒  W > P
vdnt Ô®î I (W > P) rÇ

D < W ≤ H = B

D < W ; W ≤ H ⇒ D < H

D < H ; H = B ⇒ D < B

vdnt Ô®î II (D ≥ B) jtW.

11.	 T‰WfŸ :  R = T ≤ N < O ≤ M ;  P > W ≥ X < N
   Ô®îfŸ  :  I. X > O     II. M < P

És¡f« :� Éil : D
bfhL¡f¥g£LŸs T‰WfŸ

R = T ≤ N < O ≤ M	 ... (i)

P > W ≥ X < N		 ...(ii)

(i) k‰W« (ii) I ïiz¤jhš,

X < N < O

X < N ; N < O ⇒ X < O

vdnt Ô®î I (X<O) jtW.

(i) k‰W« (ii) I ïiz¤jhš,

P > W ≥ X < N < O ≤ M

            

M k‰W« P ïu©ilí« x¥ãl KoahJ vdnt Ô®î II (M > P) 
jtW.

12.	 T‰WfŸ :  B ≤ D = F ≤ K ≤ I ;   C = L > F ≥ Y ≤ A
   Ô®îfŸ  :  I. I ≥ Y     II. L > K

És¡f« :� Éil : A
bfhL¡f¥g£LŸs T‰WfŸ

B ≥ D = F ≤ K ≤ I	 ... (i)

C = L > F ≥ Y ≤ A	 ...(ii)

(i) k‰W« (ii) I ïiz¤jhš,

I ≥ K ≥ F ≥ Y

I ≥ K ; K ≥ F fi I ≥ F
I ≥ F ; F ≥ Y fi I ≥ Y
vdnt Ô®î I(I≥Y) rÇ

(i) k‰W« (ii) I ïiz¤jhš,

L > F ≤ K

    

L k‰W« K ïu©ilí« x¥ãl KoahJ. vdnt Ô®î II (L > K) 
jtW.

13.	 T‰WfŸ :  E ≥ G > K = P ;  S > G > T
   Ô®îfŸ  :  I. T > P     II. E > T

És¡f« :� Éil : B
bfhL¡f¥g£LŸs T‰WfŸ

E ≥ G > K = P	 ... (i)

S > G > T	 ...(ii)

(i) k‰W« (ii) I ïiz¤jhš,

T < G > K = P

    

T k‰W« P ïu©ilí« x¥ãl KoahJ. vdnt Ô®î I (T > P) 
jtW.

(i) k‰W« (ii) I ïiz¤jhš,

E ≥ G > T

E ≥ G ; G > T fi E > T

vdnt Ô®î II (E>T) rÇ
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14.	 T‰WfŸ :  U ≤ V = W ≤ H = N ; B ≤ W = Z
   Ô®îfŸ  :  I. N > B     II. N = B

És¡f« :� Éil : C
bfhL¡f¥g£LŸs T‰WfŸ

U ≤ V = W ≤ H = N	 ... (i)

B ≤ W = Z	 	 ...(ii)

(i) k‰W« (ii) I ïiz¤jhš,

N = H ≥ W ≥ B

N = H ; H ≥ W fi N ≥ W
N ≥ W ; W ≥ B fi N ≥ B
vdnt Ô®î I (N≥B) mšyJ T‰W II (N=B) rÇahf ïU¡fyh«.

15.	 T‰WfŸ :  A < B ≤ C < Y ≤ D ;  C = L
   Ô®îfŸ  :  I. A > L     II. D < L

És¡f« :� Éil : E
bfhL¡f¥g£LŸs T‰WfŸ

A < B ≤ C < Y ≤ D	 ... (i)

C = L			   ...(ii)

(i) k‰W« (ii) I ïiz¤jhš,

A < B ≤ C = L

A < B ;  B ≤ C = A < C

A < C ; B ≤ C = A < C

A < C ; C = L = A < L

vdnt Ô®î I (A<L) rÇ (i) k‰W« (ii) I ïiz¤jhš

D ≥ Y > C = L

D ≥ Y ; Y > C = D > C

D > C ; C = L = D  > L

vdnt Ô®î II (D>L) rÇ.

16.	 T‰WfŸ :  P < Q ≤ R ; S < T ≤ P ;  V = W > S
   Ô®îfŸ  :  I. Q > T     II. V < S

És¡f« :� Éil : A
bfhL¡f¥g£LŸs T‰WfŸ

P < Q ≤ R 	 ... (i)

S < T ≤ P	 ...(ii)

V = W > S	 ...(iii)

(i) k‰W« (ii) I ïiz¤jhš,

Q > P ≥ T

Q > P ; P ≥ T fi Q > T

vdnt Ô®î I (Q>T) rÇ

V = W > S

V = W ; W > S fi V > S.

vdnt Ô®î II (V<S) jtW.

17.	 T‰WfŸ :  A > B = C ;  C < D ≤ E ; F ≤ D 
   Ô®îfŸ  :  I. F < B     II. B < D

És¡f« :� Éil : B
bfhL¡f¥g£LŸs T‰WfŸ

A > B = C 	 ... (i)

C < D ≥ E	 ...(ii)

F ≤ D	 	 ...(iii)

(i), (ii) k‰W« (iii) I ïiz¤jhš,

A > B = C < D ≥ F

                   

F k‰W« D ïu©ilí« x¥ãl KoahJ. vdnt Ô®î I (F ≤ D) 
jtW.

B = C < D

B = C ; C < D fi B < D

vdnt Ô®î II (B<D) rÇ.

18.	 T‰WfŸ :  Q > B ;  K < E < B ;  J ≥ E ;  R < Q
   Ô®îfŸ  :  I. Q > K     II. Q = E

És¡f« :� Éil : A
bfhL¡f¥g£LŸs T‰WfŸ

Q > B		  ... (i)

K < E < B	 ...(ii)

J ≥ E 	 	 ...(iii)

(i), k‰W« (ii) I ïiz¤jhš,

Q > B > E > K

Q > B ; B > E fi Q > E

Q > E ; E > K fi Q > K

vdnt Ô®î I (Q > K) rÇ.

Q > B > E

Q > B ; B > E fi Q > E

vdnt Ô®î II (Q=E) jtW.

19.	 T‰WfŸ :  E = F < G < H ; G > I
   Ô®îfŸ  :  I. H > I     II. E > I

És¡f« :� Éil : A
bfhL¡f¥g£LŸs T‰WfŸ

E = F < G < H	 ... (i)

G > I		  ...(ii)

(i) k‰W« (ii) I ïiz¤jhš,

H > G > I

H > G ; G > I fi H > I

vdnt Ô®î I (H > I) rÇ.

(i) k‰W« (ii) I ïiz¤jhš,

E = F < G > I

           

E k‰W« I ïu©ilí« x¥ãl KoahJ. vdnt Ô®î II (E>I) jtW.

20.	 T‰W :  Z > W > V = K < L < I
   Ô®îfŸ  :  I. W > K     II. I > K

És¡f« :� Éil : E
W > V = K

W > V ; V = K fi W > K

vdnt Ô®î I (W > K) rÇ.
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I > L > K

I > L ; L > K fi I > K

vdnt Ô®î II (I > K) rÇ

(21 & 22) 	T‰WfŸ :  Q = R ≤ W ;  U ≤ N = Q > P

21.	 Ô®îfŸ  :  I. U ≤ W     II. N > W

És¡f« :� Éil : A
bfhL¡f¥g£LŸs T‰WfŸ

Q = R ≤ W	 ... (i)

U ≤ N = Q > P	 	 ...(ii)

(i) k‰W« (ii) I ïiz¤jhš,

U ≤ N = Q = R ≤ W

U ≤ N ; N = Q fi U ≤ Q
U ≤ Q ; Q = R fi U ≤ R.
U ≤ R ; R ≤ W = U ≤ W

vdnt Ô®î I (U ≤ W) rÇ.

(i) k‰W« (ii) I ïiz¤jhš,

N = Q = R ≤ W.

N = Q ; Q = R fi N = R.

N = R ; R ≤ W fi N ≤ W.
vdnt Ô®î II (N > W) jtW.

22.	 Ô®îfŸ  :  I. R > P     II. Q ≤ W

És¡f« :� Éil : E
bfhL¡f¥g£LŸs T‰WfŸ

Q = R ≤ W	 ... (i)

U ≤ N = Q > P	 ...(ii)

(i) k‰W« (ii) I ïiz¤jhš,

R = Q > P

R = Q ; Q > P fi R > P

vdnt Ô®î I (R > P) rÇ.

Q = R ≤ W

Q = R ; R ≤ W fi Q ≤ W
vdnt Ô®î II (Q ≤ W) rÇ.

(23 & 24) 	T‰WfŸ :  K > V ≥ U,  A < N ≤ E = U ;   
		 A < S ≤ B

23.	 Ô®îfŸ  :  I. U ≥ S     II. V ≥ N

És¡f« :� Éil : B
bfhL¡f¥g£LŸs T‰WfŸ

K > V ≥ U	 	 ... (i)

A < N ≤ E = U	 	 ...(ii)

A < S ≤ B 	 	 ...(iii)

(i), (ii) k‰W« (iii) I ïiz¤jhš,

B ≥ S > A < N ≤ E = U ≤ V < K

           

U k‰W« S ïu©ilí« x¥ãl KoahJ. vdnt Ô®î I(U≥S) jtW.

V ≥ U = E ≥ N

V ≥ U ; U = E fi V ≥ E.
V ≥ E ; E ≥ N fi V ≥ N
vdnt Ô®î II (V ≥ N) rÇ.

24.	 Ô®îfŸ  :  I. K > E     II. V > A

És¡f« :� Éil : E
(i), (ii) k‰W« (iii) I ïiz¤jhš,

B ≥ S > A < N ≤ E = U ≤ V < K

K > V ≥ U = E

K > V ; V ≥ U fi K > U

K > U ; U = E fi K > E

vdnt Ô®î I (K > E) rÇ.

V ≥ U = E ≥ N > A

V ≥ U ; U = E fi V ≥ E
V ≥ E ; E ≥ N fi V ≥ N
V ≥ N ; N > A fi V > A

vdnt Ô®î II (V < A) rÇ.

25.	 T‰W :  G ≤ L > K = S < F ≥ N > T
   Ô®îfŸ  :  I. G > S     II. K ≥ T

És¡f« :� Éil : D
G ≤ L > K = S

    

G k‰W« S ïu©ilí« x¥ãl KoahJ. vdnt Ô®î I (G>S) jtW.

K = S < F ≥ N > T

           

K k‰W« T ïu©ilí« x¥ãl KoahJ. vdnt Ô®î (K≥T) jtW.

(26 & 27) 	T‰WfŸ :  A > Y = Z ≥ P < C ;   
		                         P < D = M ≥ N = O

26.	 Ô®îfŸ  :  I. C > N     II. N ≥ C

És¡f« :� Éil : D
bfhL¡f¥g£LŸs Ô®îfŸ

A > Y = Z ≥ P < C	 ... (i)
P < D = M ≥ N = O	 ...(ii)
(i) k‰W« (ii) I ïiz¤jhš,

C > P < D = M ≥ N

    
C k‰W« N ïu©ilí« x¥ãl KoahJ. vdnt Ô®î I k‰W« II 
jtwhdit.
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27.	 Ô®îfŸ  :  I. M > C     II. D ≥ O
És¡f« :� Éil : B
(i) k‰W« (ii) I ïiz¤jhš,

M = D > P < C

            
M k‰W« C ïu©ilí« x¥ãl KoahJ. vdnt Ô®î I (M>C) 
jtW.

D = M ≥ N = O
D = M ; M ≥ N fi D ≥ N
D ≥ N ; N = O fi D ≥ O.
vdnt Ô®î II (D ≥ O) rÇ.

28.	 T‰WfŸ :  5 = 8 > 9 ≥ 7 ;   9 < 10 = 12
   Ô®îfŸ  :  I. 12 > 7     II. 12 ≥ 7

És¡f« :� Éil : A
bfhL¡f¥g£LŸs T‰WfŸ

5 = 8 > 9 ≥ 7 	 ...(i)
9 < 10 = 12 	 ...(ii)
(i) k‰W« (ii) I ïiz¤jhš,

12 = 10 > 9 ≥ 7
12 = 10 ; 10 > 9 fi 12 > 9
12 > 9 ; 9 ≥ 7 fi 12 > 7
vdnt Ô®î I (12 > 7) rÇ. Ô®î II (12 ≥ 7) jtW.

(29 & 30) 	T‰WfŸ :  L < Q = R ≥ S = T ; U = V ≥ L.
29.	 Ô®îfŸ  :  I. Q = T     II. R ≥ U
És¡f« :� Éil : D
bfhL¡f¥g£LŸs T‰WfŸ

L < Q = R ≥ S = T	 ... (i)
U = V ≥ L	 	 ...(ii)
Q = R ≥ S = T
Q = R ; R ≥ S fi Q ≥ S
Q ≥ S ; S = T fi Q ≥ T
vdnt Ô®î I (Q=T) jtW.

(i) k‰W« (ii) I ïiz¤jhš,

R = Q > L ≤ V = U

            
R k‰W« U ïu©ilí« x¥ãl KoahJ.

30.	 Ô®îfŸ  :  I. T ≤ R     II. U ≥ L
És¡f« :� Éil : E
T = S ≤ R
T = S ; S ≤ R fi T ≤ R vdnt Ô®î I (T≤R) rÇ.

U = V ≥ L
U = V ; V ≥ L fi U ≥ L vdnt Ô®î II (U ≥ L) rÇ.

Click Here : https://bit.ly/3EcEPSZ

Click Here : https://bit.ly/3EcEPSZ

www.su
ra

bo
ok

s.c
om



nn 138 nn

RuhÉ‹   Ó cŒ¤Jz®jš / òÇâw‹ (Reasoning Ability)

17. gštif Édh¡fŸ

(1 - 5) Ñœ¡f©l jftšfis ftdKl‹ go¤J 

Édh¡fS¡nf‰w ÉilaË¡fî«.

âwªj mykhÇ x‹¿š x‹¿‹nkš x‹whf g¤J bg£ofŸ 

mL¡f¥g£LŸsd.

M k‰W« N M»at‰¿‰F ïilna 5 bg£ofŸ cŸsd. N 
k‰W« Q M»at‰¿‰F ïilna 3 bg£ofŸ cŸsd. M k‰W«  

Q É‰F ïilÆš cŸs bg£ofË‹ v©Â¡if M k‰W« 

S-‰F ïilna cŸs bg£ofË‹ v©Â¡if¡F rkkhF«. 

S-‰F mL¤J nkny W cŸsJ. T ¡F ÑnH v¤jid bg£ofŸ 

cŸsdnth mijÉl x‹W Fiwthf W É‰F nkš cŸsJ. 

mL¡»‹ nkny T ïšiy. P ¡F mL¤J nkny V cŸsJ. P 

k‰W« O É‰F ïilna 2 bg£ofŸ cŸsd. O É‰F nkny cŸs 

bg£ofSŸ R-« x‹whF«.

1.	 Ñœ¡f©lt‰¿š O É‰F mL¤J nkyhfî« ÑHhfî« 

mikªJŸs bg£ofŸ ahit?

A)	P & Q	 B)	 M & W
C)	 M & Q	 D)	 W & N
E)	 N & P

2.	 Ñœ¡f©l T‰WfËš vJ jtwhdJ?

A)	 V k‰W« N M»at‰¿‰F ïilna ïu©L bg£ofŸ 

cŸsd.

B)	 M ‰F mL¤J nkyhf R cŸsJ.

C)	 S ‰F nkny xnubahU bg£o k£L« cŸsJ.

D)	 mL¡»š ÑÊUªJ nkyhf _‹whtJ ïl¤âš P cŸsJ.

E)	 mid¤J T‰WfS« c©ik.

3.	 Ñœ¡f©l T‰WfËš O-É‹ ïl mik¥ãš vJ 

rÇahdJ?

A)	 nkÈUªJ eh‹fhtJ	 B)	 ÑÊUªJ ïu©lhtJ

C)	 nkÈUªJ IªjhtJ	 D)	 ÑÊUªJ IªjhtJ

E)	 ÑÊUªJ eh‹fhtJ

4.	 V-íl‹ bjhl®òilaJ T, R cl‹ bjhl®òilaJ O 

vÅš Ñœ¡f©l vjDl‹ Q bjhl®òilaJ?

A)	N	 B)	 M
C)	 W	 D)	 T
E)	 P

5.	 R k‰W« S M»at‰¿‰F ïilÆš v¤jid bg£ofŸ 

cŸsd?

A)	 eh‹F	 B)	 x‹W

C)	 _‹W	 D)	 ïu©L

E)	 vJîÄšiy

És¡f« : 
bfhL¡f¥g£LŸs juîfË‹ mo¥gilÆš Ñœ¡f©l m£ltiz 

jahÇ¡f¥g£LŸsJ.

bg£o v© bg£oÆ‹ bga®

10 W

9 S

bg£o v© bg£oÆ‹ bga®

8 R

7 M

6 O

5 Q

4 V

3 P

2 T

1 N

1.  C		  2.  A		  3. C
4.  B   

�T ¡F nkš ïu©lhtjhf V cŸsJ. O-¡F nkš ïu©lhtjhf 

R cŸsJ. ïnjnghš Q-‰F nkš ïu©lhtjhf M cŸsJ.

5.  E

(6-10) Ñœ¡f©l jftšfis ftdKl‹ go¤J 

ÉdhÉ‰nf‰w ÉilaË¡fî«.

A, B, C, D, E, F, G k‰W« H M»a v£L eg®fŸ, #dtÇ, 

ã¥utÇ, kh®¢, V¥uš, nk, #]‹, #]iy k‰W« Mf°£ M»a 

khj§fËš K«ig¡F¢ br‹wd®. xU khj¤âš xUt® k£Lnk 

br‹wh®.

A-¡F K‹dhš _‹W ng® K«ig¡F¢ br‹wd®. A k‰W« B 

M»nahU¡F ïilna ïu©L ng® br‹wd®. B br‹w khj¤â‰F 

mL¤j khj¤âš C K«ig¡F¢ br‹wh®. C k‰W« D M»nahU¡F 

ïilÆš eh‹F ng®fS¡F« nkš K«ig¡F¢ br‹wd®. D k‰W« 

E M»nahU¡F ïilÆš ïu©L ng® br‹wd®. E vªj khj¤âš 

K«ig¡F¢ br‹whnuh mj‰F Kªija khj§fËš VnjD« 

x‹¿š F K«ig¡F¢ br‹wh®, #dtÇ khj¤âš bršyÉšiy. G 
br‹wj‰F mL¤j khj¤âš H K«ig¡F¢ br‹wh®.

6.	 Ñœ¡f©l T‰WfËš vJ rÇahdJ?

A)	 D k‰W« G ¡F ïilÆš ïu©L ng® K«ig¡F¢ 

br‹wd®.

B)	 E ¡F ã‹d® ahU« K«ig¡F¢ bršyÉšiy.

C)	 vªj¡ T‰W« c©ikÆšiy.

D)	 F br‹wj‰F K‹ghfnt A K«ig¡F¢ br‹wh®.

E)	 V¥uš khj¤âš C K«ig¡F¢ br‹wh®.

7.	 #]iy khj¤âš K«ig¡F¢ br‹wt® ah®?

A)	E	 B)	 C
C)	 G	 D)	 D
E)	 H

8.	 C k‰W« G-¡F ïilÆš v¤jid ng® K«ig¡F¢ 

br‹wd®?

A)	 ïu©L	 B)	 _‹W

C)	 x‹W	 D)	 ahUÄšiy

E)	 _‹W¡F« nkš
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9.	 D vªj khj¤âš K«ig¡F¢ br‹wh®?

A)	 nk	 B)	 #]‹

C)	 ã¥utÇ	 D)	 Mf°£

E)	 #dtÇ

10.	 Ñœ¡f©l FG¡fËš khWg£l x‹iw¤ nj®f.

A)	 #]‹-E	 B)	 nk-A
C)	 V¥uš-C	 D)	 ã¥utÇ-B
E)	 Mf°£-H

És¡f« : 
(6-10) bfhL¡f¥g£LŸs juîfË‹ mo¥gilÆš 

Ñœ¡f©l m£ltiz jahÇ¡f¥g£LŸsJ.

khj« eg®

#dtÇ B

ã¥utÇ C

kh®¢ F

V¥uš A

nk E

#]‹ G

#]iy H

Mf°£ D

6. D,            7. E,            8. B,          9. D,

10.	 E nk khj¤âš br‹wh®. mj‰F mL¤j khjkhd #]‹ 

bfhL¡f¥g£LŸsJ.

	 A V¥uš khj¤âš br‹wh®. mj‰F mL¤j khjkhd nk 

bfhL¡f¥g£LŸsJ.

	 B #dtÇÆš br‹wh®. mj‰F mL¤j khjkhd ã¥utÇ 

bfhL¡f¥g£LŸsJ.

	 H #]iyÆš br‹wh®. mj‰F mL¤j khjkhd Mf°£ 

bfhL¡f¥g£LŸsJ.

	 C ã¥utÇÆš br‹wh®. Mdhš mj‰F mL¤j ïu©lhtJ 

khjkhd V¥uš bfhL¡f¥g£LŸsJ.

(11-13) Ñœ¡f©l jftšfis ftdKl‹ go¤J 

ÉilaË¡fî«.

K v‹w ïl¤â‰F nk‰»š 13 Û. bjhiyÉš J v‹w ïl« 

cŸsJ. L v‹w ïl¤â‰F bj‰nf 7 Û. bjhiyÉš K cŸsJ. M 
v‹w ïlkhdJ L ‰F »H¡nf 4 Û. bjhiyÉš cŸsJ. N v‹w 

ïl« M ‰F 20 Û. bj‰»š cŸsJ.

B v‹w ïl¤âÈUªJ bj‰nf neh¡» Rjh el¡f¤ 

bjhl§»dh®. mt® 9 Û. bjhiyî elªj ã‹ò, tyJ g¡f« âU«ã 

8 Û. bjhiyî elªJ N v‹w ïl¤ij milªjh®.

11.	 B v‹w ïl¤âÈUªJ L vªj âirÆš cŸsJ?

A)	 nk‰F	 B)	 tl¡F

C)	 bj‹»H¡F	 D)	 tlnk‰F

E)	 tl»H¡F

12.	 N ‰F nk‰nf cŸs W v‹w ïl« K ¡F ne® bj‰»š 

cŸsJ. vÅš WN k‰W« WK ¡F ïilÆš cŸs 

bjhiyÉ‹ ntWghL v›tsî?

A)	 9 Û.	 B)	 11 Û.

C)	 7 Û.	 D)	 13 Û.

E)	 4 Û. 

13.	 B ¡F nk‰F¤ âirÆš Z v‹w ïl« cŸsJ. vÅš Z-‰F 

vªj âirÆš k‰W« v›tsî bjhiyÉš M cŸsJ?

A)	 7 Û. tl¡F	 B)	 13 Û. »H¡F

C)	 13 Û. bj‰F	 D)	 11 Û. bj‰F

E)	 11 Û. tl¡F

És¡f« : 

20
 Û

.

L

K

W

M

Z

N

B

O

7 Û.

4 Û.

8 Û.

9 Û.

Rjh

13 Û.

tlnk‰F  

11.	 D

12.	 A  	WN = LM (LM || WN)

	 \ WN = 4 Û.

	 \ WK = 20 – 7 = 13 Û.

	 ntWghL = 13 – 4 = 9 Û.

13.	 E    ZN = BO

	 MZ = MN – ZN = 20 – 9 = 11 Û.

	 vdnt Z-‰F 11 Û. bjhiyî tl¡»š M cŸsJ.

14.	 S, T, U, V, W k‰W« X v‹W MW ng® xU thu¤âš 

MW bt›ntW ehŸfËš (br›thŒ Kjš PhÆW tiu) 

ãwªJŸsd®. ÉahH¡»HikÆš V ãwªjh®. V k‰W« 

X M»nahU¡F ïilÆš xUt® k£Lnk ãwªJŸsh®. 

X ãwªjâ‰F mL¤j ehŸ S ãwªjh®. T-¡F K‹dhš 

ãwªjt®fË‹ v©Â¡ifí« S-‰F ã‹dhš 

ãwªjt®fË‹ v©Â¡ifí« rkkhF«. T k‰W« U É‰F 

ïilÆš ïu©L ng® ãwªJŸsd®. 

	 U É‰F ã‹d® v¤jid ng® ãwªJŸsd®? 

A)	 _tU¡F« nkš	 B)	 x‹W

C)	 _‹W	 D)	 ahUÄšiy

E)	 ïu©L

És¡f« :� Éil : E
ehŸ eg®

br›thŒ T

òj‹ W

ÉahH‹ V

btŸË U

rÅ X

PhÆW S
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RuhÉ‹   Ó cŒ¤Jz®jš / òÇâw‹ (Reasoning Ability)

15.	 Ñœ¡f©l FG¡fËš khWg£l x‹iw¡ fh©f.

A)	 HFBD	 B)	 PNJL
C)	 XWTV	 D)	 OMIK
E)	 YWSU

És¡f« :� Éil : C
  H 

–2
 F 

–4
 B 

+2
 D

  P 
–2

 N 
–4

 J 
+2

 L

X 
–1

 W 
–3

 T 
+2

 V

  O 
–2

 M 
–4

 I 
+2

 K

  Y 
–2

 W 
–4

 S 
+2

 U
(16-18) Ñœ¡f©l jftšfis¥ go¤J Édh¡fS¡nf‰w 

ÉilaË¡fî«.

P, Q, R, S, T k‰W« U M»nah® bt›ntW taJila 

e©g®fŸ Mt®. T-I Él ïisatuhd P, Q it Él _¤jt®.  

U it Él Q _¤jt®. U midtÇY« ïisat® mšy®. Q it Él 

_¤jtuhd R midtÇY« K¤jt® mšy®. mt®fËš ïu©lhtJ 

bgÇatU¡F 42 taJ k‰W« ïu©lhtJ á¿atU¡F 24 taJ. 

(midtÇ‹ taJfS« KGikahd v©fshF«).

16.	 U k‰W« P M»nahÇ‹ taJfË‹ TLjš 52 M©LfŸ 

vÅš R k‰W« P M»nahÇ‹ taJfË‹ TLjš 

v›tsî?

A)	 64	 B)	 60
C)	 66	 D)	 70
E)	 72

17.	 bfhL¡f¥g£LŸs juîfË‹ mo¥gilÆš T taJ 

v‹dthf ïU¡fyh«?

A)	 40 M©LfŸ	 B)	 28 M©LfŸ

C)	 30 M©LfŸ	 D)	 44 M©LfŸ

E)	 36 M©LfŸ

18.	 _‹whtJ á¿at® ah®?

A)	 Q	 B)	 U
C)	 S	 D)	 T
E)	 P

És¡f« :

bfhL¡f¥g£LŸs juîfË‹ mo¥gilÆš ïu©L 

Ô®îfŸ »il¡»‹wd.

(i)  T > R > P > Q > U > S

	                              
	           42                 24
(ii) T > P > R > Q > U > S

	                              
	           42                  24

Ô®î (i) I eh« vL¤J¡ bfhŸsyh«.

16.	 P + U = 52

	 P + 24 fi 52

	 \ P = 52 – 24 = 28

	 P + R = 42 + 28 = 70 M©LfŸ.

17.	 D   T-Æ‹ taJ 42-I Él mâfkhf ïU¡f nt©L«. 

		       44 > 42

18.	 A
(19-22) Ñœ¡f©l jftšfis¥ go¤J Édh¡fS¡nf‰w 

ÉilaË¡fî«.

rk msî ïilbtËÆš tl¡F neh¡», ne® tÇirÆš 

áy® mk®ªJŸsd®. A k‰W« B ¡F ïilÆš IªJ ng® 

cŸsd®. C ¡F  ty¥g¡f« Iªjhtjhf B mk®ªJŸsh® C ¡F 

ty¥g¡f« eh‹fhtjhf D mk®ªJŸsh®. tÇirÆ‹ filáÆš 

mk®ªJŸstU¡F _‹whtjhf D mk®ªJŸsh®. D ¡F ïl¥g¡f« 

VHhtjhf mk®ªJŸst® át¥ò Ãw¤ij ÉU«òt®. át¥ò k‰W« Úy 

Ãw§fis ÉU«ògt®fS¡F ïilÆš v£L ng® mk®ªJŸsd®. 

tÇirÆ‹ ïlJ nfhoÆš mk®ªJŸst® Úy Ãw¤ij ÉU«òt® 

Mth®. ÚyÃw¤ij ÉU«ògtU¡F mL¤J kŠrŸ Ãw¤ij 

ÉU«òt® mk®ªJŸsh®. kŠrŸ Ãw¤ij ÉU«ògtU¡F« E ¡F« 

ïilÆš VGng® mk®ªJŸsd®. E ¡F tyJ g¡f« Mwhtjhf, 

MuŠR Ãw¤ij ÉU«òt® mk®ªJŸsh®. E k‰W« F ¡F ïilÆš 

VGng® mk®ªJŸsh®.

19.	 A ¡F« kŠrŸ Ãw¤ij ÉU«ògtU¡F« ïilÆš 

v¤jid ng® mk®ªJŸsd®?

A)	 MW	 B)	 IªJ

C)	 VG	 D)	 x‹gJ

E)	 _‹W

20.	 ÚyÃw« : F,   D : B  vÅš  ? : C 

A)	 MuŠR Ãw¤ij ÉU«ògt®

B)	 A
C)	 F
D)	 át¥ò Ãu¤ij ÉU«ògt®

E)	 B

21.	 MuŠR Ãw¤ij ÉU«ògtU¡F vªj¥ g¡f¤âš 

v¤jidahtJ ïl¤âš B cŸsh®?

A)	 ïl¥g¡f« IªjhtJ	 B)	 ïl¥g¡f« _‹whtJ

C)	 ty¥g¡f« ïu©lhtJ	 D)	 ïl¥g¡f« VHhtJ

E)	 ty¥g¡f« x‹gjhtJ

22.	 mªj tÇirÆš bkh¤j« v¤jid eg®fŸ 

mk®ªJŸsd®?

A)	 23	 B)	 18
C)	 19	 D)	 21
E)	 15

És¡f« :

F E A C D B

Ú
y

«

k
Š

r
Ÿ

tl¡F neh¡»

á
t

¥
ò

M
u
Š

R

20.	 B

	 Úy Ãw¤ij ÉU«òtU¡F mL¤J ty¥g¡f« F cŸsh®.  

D ¡F mL¤J ty¥g¡f« B cŸsh®. ïnjnghš, A ¡F 

mL¤J ty¥g¡f« C cŸsh®.

21.	 C
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